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      Maximum Marks: 70
	Q.1
	(a) What are actual arguments and formal arguments in C++? Explain with example.


OR

     Differentiate between call by reference and call by value, with example?

(b) Name the header files, to which following built-in functions belongs:


(i) isalnum()
(ii) exit()             (iii) ceil()               (iv) fabs()  

(c) Find out the errors in the following program. Underline each correction if any.

#include [iostream.h]

class MEMBER

{ static int C;
  int Mno =0; float Fees;

PUBLIC:
void MEMBER (int i, float j;)  { Mno=i; float Fees = j;    }
 void Register() { cin>>Mno>>Fees;  C++;}

 void Display {   cout<<Mno<<" : "<<Fees<<endl<<”Total”<<C;   }

};

void main()

{ MEMBER M;

  Register();

  M.Display();

}
 (d) Find the output for the following program:

#include<iostream.h>

#include<ctype.h>

void Encript ( char T[ ])

{ for( int i=0 ; T[i] != ‘ \0’ ; i += 2)

   if( T[i] = = ‘A’ || T[i] = = ‘E’ )

      T[i] = ‘#’ ;

   else if (islower (T[i] ))

             T[i] = toupper(T[i]);


 else


    T[i] = ‘@’;

}

void main()

{ char text [ ] = “SaVE EArTh in 2012”;

  encrypt(text);

  cout<<text<<endl;

}
(e) Write the minimum and maximum output possible from the following code, if 7 is entered in N:

      void main( )


{          int N, Guessme;


randomize( );


cin>>N;


Guessme=random(N)+10;


cout<<Guessme<<endl;


}
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	 Q.2
	(a) Explain the concept of inheritance in OOPs with example?
(b) Answer the following questions (i to ii) after going through the following class:

class Inter
{ int m;

public: 

Inter( int Y ) { m = y; }
 // Function 1
Inter ( Inter & t );
// Function 2

~Inter() {  }                           // Function 3

};

(i) a) Create an object, such that it invokes Function 1.
b) What is Function 3?
(ii) Write complete definition for Function 2.
(c) Define a class Competition in C++ with the following descriptions:
                              

Private Members:
    

Event_no
    integer

           
Description
    char(30)

           
Score    

    integer
 Qualified
    char 
              Award(int)             To award qualified as ‘Y’, if score is more than the cut off score passed as

                                              argument to the function else ‘N’.           
Public Members:

· A constructor to assign initial values Event_No as 101, Description as “State level”, Score is 50 and Qualified as ‘N’ through parameters.

· Input(), To take the input for Event_no, Description and Score and call the function Award().

· Show(), To display all the details.

(d) Consider the following and answer the questions given below:

class CEO

{    double Turnover;

  protected:

      int Noofcomp;

  public:

CEO();

void INPUT(int);

void OUTPUT();

};

class Director : public CEO

{  int Noofemp;

public:

Director ();

void Indata();

void Outdata();

protected:

    float Funds;

};

class Manager : public Director

{  float Expenses;

public:

   void Display();

   Manager();

}

1) a) Which constructor will be called first at the time of declaration of an object of class Manager?

b) How many bytes will an object belonging to class Manager require?

2) Name the member function(s), which are directly accessible from the object of class Manager.

3) Is the data member Funds accessible by the object of the class Manager and why?

4) If the class Manager is derived in protected mode in place of public then, give the names of inherited members in the protected section only?
(e) Write the parameterized constructor definition for the both classes given below:

class alpha

{   int a

    float b;

    char c;

public:

   -----------  //constructor definition 

   …...     };

class beta : public alpha

{ int x;

public:

  ……………..//constructor definition

};
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	 Q.3

  (a) 

(b) 

  (c)

  (d)

  (e)


	An array A [-2...5] [-4...1] is stored in the memory with each element occupying 4 bytes of space. Assuming the address of A [0] [-1] is 1000 then compute the base address of A and also the address of     A [4] [1], when the array is stored as row wise.

Write a function in C++ which accepts an array of integer type and its size as arguments and rearrange the array in following order.

For example: 

If array contents:                      1, 3, 5, 7, 9 ,11, 13, 15, 17, 19

Array after rearrangement:    11, 13, 15, 17, 19, 1, 3, 5, 7, 9 

Write a function in C++ which accepts a 2-D array of integers as argument and displays the upper triangle elements only.
Example, if the array contents are:                            Then output of function should be:
3 5 4 3                                                                     3 5 4 3
2 6 9 2                                                                     0 6 9 2
8 7 3 6                                                                     0 0 3 6

1 5 4 9                                                                     0 0 0 9
Write a function FindPlayer() in C++ to find & display the record of a player from a dynamically allocated Queue implemented with the help of following structure. The function will receive the Front, Rear and the player ID to be search from Queue as arguments. (Assume the queue is already created with some elements.)

struct Cricket

{           int Pid;                  // Player ID

            char Pname[20];  // Player Name

            char Type[20];     // Batsman or Bowler or Keeper or Others

            Student *next;

}*Front, *Rear;

Convert the following infix expression into postfix expression. Show the stack status after execution of each operation.

       True OR False AND NOT True OR False AND True
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	 Q.4

  (a)

  (b)

  (c)

  (d)
	class PracFile

{     int Pracno;

char PracName[20];

int TimeTaken;

int Marks;

public:

void EnterPrac( );                // function to enter PracFile details

void ShowPrac( ):               // function to display PracFile details

int RTime()                         // function to return TimeTaken

{ return TimeTaken; }

void Assignmarks (int M) // function to assign Marks

 { Marks = M;  }

};

void AllocateMarks( )

{   fstreamFile;

     File.open(“MARKS.DAT”,ios::binary|ios::in|ios::out);

     PracFile P;

     int Record = 0;

     while (File.read(( char*) &P, sizeof(P)))

     {

       if(P.RTime()>50)

           P.Assignmarks(0)

      else

          P.Assignmarks(10)

       ______________ //statement 1
      ______________ //statement 2
        Record + + ;

      }

 File.close();

}

If the function AllocateMarks () is supposed to Allocate Marks for the records in the file MARKS.DAT based on their value of the member TimeTaken. Write C++ statements for the statement 1 and statement 2, where, statement 1 is required to position the file write pointer to an appropriate place in the file and statement 2 is to perform the write operation with the modified record.

 Write functions in C++ to read the content from a text file Story.TXT, count and display the number of line are present in the story.

  Given a binary file “BUS.DAT”, containing records of the following class bus type.

class bus











{
int bus_no;


char desc[40];


int distance;

//in km

    public:


void read()


{
cin>>bus_no; gets(desc) ; cin>>distance;
}


void display()


{
cout<<bus_no; puts(desc); cout<<distance;
}

 
int retdist()


{
return distance;
}

};

Write a function in C++ that would read the contents of file “BUS.DAT” and display the details of those buses which travels the distance more than 100 km.
Explain the file opening methods? Give examples.
	[1]

[2]

[3]

[2]

	 Q.5

 (a)

  (b)


	Consider the following relation and perform the relational algebra operation (for Q. 1 & 2):

Customer:
id

Name 

Banker name

Amount 

Balance 

C001

reva

reva

21000

22000

C002

ramesh

ajit

10000

25000

C003

kalpana

ajit

5000

35000

C004

sonali

reva

12000

22000

C005

ajay

kamal

5000

13000

1) Display the name of customer with their banker name and Balance.

2) Find out the name and balance of customer having Balance >=20000.

OR

What do you mean by Primary Key and Candidate Key, explain?

Consider the following WORKERS and DESIG. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (vi)

WORKERS


W_ID

FIRSTNAME

LASTNAME

ADDRESS

CITY

102

Sam

Tones

33 Elm St.

Paris

105

Sarah

Ackerman

440 U.S. 110

New York

144

Manila

Sengupta

24 Friends Street

New Delhi

210

George

Smith

83 First Street

Howard

255

Mary

Jones

842 Vine Ave.

Losantiville

300

Robert

Samuel

9 Fifth Cross

Washington

335

Henry

Williams 

12Moore Street

Boston

403

Ronny

Lee

121 Harrison St.

New York

451

Pat

Thompson

11 Red Road

Paris

DESIG

W_ID

SALARY

BENEFITS

DESIGNATION

102

75000

15000

Manager

105

85000

25000

Director

144

70000

15000

Manager

210

75000

12500

Manager

255

50000

12000

Clerk

300

45000

10000

Clerk

335

40000

10000

Clerk

403

32000

7500

Salesman

451

28000

7500

Salesman

(i) To display the content of workers table in ascending order of first name.

(ii) To display the FIRSTNAME, CITY and TOTAL SALARY of all Clerks from the tables workers and design, where TOTAL SALARY = SALARY + BENEFITS.

(iii) To display the minimum SALARY among Managers and Clerks from the table DESIG.

(iv) Increase the BENEFITS of all Salesmen by 10% in table DESIG.

(v) SELECT FIRSTNAME, SALARY FROM WORKERS, DESIG WHERE DESIGNATION = ‘Manager’ AND WORKERS.W_ID = DESIG.W_ID;

(vi) SELECT DESIGNATION, SUM(SALARY) FROM DESIG 

       GROUP BY DESIGNATION HAVING COUNT(*)>=2 ;

	[2]
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	 Q.6


	(a) State and verify the Absorption Law in Boolean Algebra.
(b) Draw the logic circuit diagram for the Boolean equation:  (A+B’)(A’+B+C’)(A’+C’) 

       (using And/Or/Not Logic gates only)
(c) Write the Sum of Product form of the function H (U, V, W). Truth table representation of the function

     H is as follows:










U
V
W
H


0
0
0
0


0
0
1
0


0
1
0
1


0
1
1
0


1
0
0
1


1
0
1
0


1
1
0
1


1
1
1
1
(d) Minimize the following function using K- map and find out the expression

       F(A, B, C, D) = ∑ (0, 2, 5, 7, 8, 9, 10, 11, 12, 13, 14, 15)
	[2]
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	 Q.7
  (a)
  (b)
  (c)

  (d)
  (e)

 
	  Differentiate between LAN & WAN?

Write a brief note on types of cables used in communication.
Define the following terms:

i) HTTP   ii) DHTML

Differentiate between open source and free software? Give examples.
[image: image1.png]“Kanganalay Cosmetics” is planning to start their offices in four major cities in Uttar Pradesh to provide cosmetic product support in its retail fields. The company has planned to set up their offices in Lucknow at three different locations and have named them as “Head office”, “Sales office”, & “Prod office”. The company’s regional offices are located at Varanasi, Kanpur & Saharanpur. A rough layout of the same is as follows : 

                                

                

   Approximate distances between these offices as per network survey team is as follows :

   Place from

    Place to

   Distance 

Head office

Sales office

150M

Head office

Prod office

80M

Head office

Varanasi Office

295 KM

Head office

Kanpur Office

195 KM

Head office

    Saharanpur

    office

408 KM

   Number of computers :

Head office 

156

Sales office

25

Prod office

56

Varanasi Office

85

Kanpur Office

107

Saharanpur office

105

i) Suggest the placement of the Server with justification in Lucknow city network. 

ii) Suggest the placement of repeaters and switches for the Lucknow city network. 

iii) If we connect all offices in UP in a network, then which type of this network is called? Also suggest a suitable way to connect them in most economical way.
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